TER A AO#ETFRMH1712).xIs

X% TR 4 5 £ & HHEHR
FRHEMX  BIRET 61 51 112 49
FHEMKX | L{fHET 22 24 46 18
FRHEMX  {hET 18 19 37 17
FRE#MX AKET—TH 15 17 32 15
FREMX AKETZTH 22 22 44 14
FRE#HMRX AET=-WMTH 23 26 49 23
FRHEMX {5HET 32 38 70 28
FHREMKX SH 47 45 92 39
FRHEMX  STHT 50 76 126 49
FHEMKX  IIHT 40 49 89 36
FREMX FIHHET 22 25 47 17
FRHEMX SEEHET 26 29 55 26
FRHEHX TLHHE 45 54 99 40
FHEMRX | b HHE 59 64 123 53
FREHMX EHAT 65 65 130 63
FREMRX LREE 33 46 79 32
FREMX  FHAHET 23 36 59 31
FRHE#MX HEET 73 101 174 75
FREHX WRE 392 444 836 352
FRE#HR THE 124 146 270 119
FRHEHX MERA 85 114 199 88
FREMX HE 769 861 1,630 594
FEREHX F 104 121 225 75
FREMKX AiL 54 66 120 43
FREMRX AKREETKER 323 336 659 217
FRHE#MX FHFXHET 414 521 935 322
FREMX il 60 75 135 56
FRHREMHRX Lt/ 464 504 968 283

FHEMXE 3465 3975 7440 2,774
HEHX KRZEBT KRBT 310 331 641 220
HEHX AER 107 123 230 72
H B X thiE 137 135 272 85
HEHX BRE 113 151 264 80
HEHX Pieche:3 93 124 217 88
HEHhX )= 19 17 36 11

HEMXET 779 881 1,660 556
KiFHh X KHET 487 567 1,054 429
KiFHh X 03 BT 187 253 440 163
KiFHh X B 372 395 767 276
KiFHh X | 71 91 162 46
KiFHh X EEF 72 77 149 49
KiFHh X &= 163 173 336 100
KiFih X THE 182 159 341 87
KiFHh X K ERIET 137 158 295 115
KiFih X 7MLF 191 196 387 146
KiFHh X HAE 286 365 651 284
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X4 TR 4 5 £ & HHEHR
KiFHh X 75 389 459 848 369
KT ih X BREREE 7 46 53 53
KiFih X HEYNE 94 109 203 60
KiFHh X HIUVHLE 506 557 1,063 349
KiFih X 22LrE 250 273 523 152
K X G585 0WZEY 5 18 23 23

Kifih X5t 3399 3896 7,295 2,701
SL{EHX FRET1X 42 58 100 50
ST{EHX FRET2X 429 461 890 365
SL{EHX FRETIX 226 217 443 182
SLTEHN X IfER—TH 254 367 621 262
SL{EHX MIEEZTH 277 307 584 217
STEHN X MER=TH 476 484 960 341
SL{EHX MNIEEHMTH 137 190 327 134
S{EHX =T 352 369 721 278
SL{EHX 3} 253 282 535 216
STEH X e 651 677 1,328 464
SAEH X FTXEThHhE 119 133 252 115

M {EH X ET 3216 3545 6,761 2,624
KINAET P=E~ 85 93 178 49
KIS ET ING R 73 79 152 52
KINAET Mt 245 266 511 185
AP ET et 44 52 96 43
KIIAET RIALW 117 129 246 73
KINAET 1IEAth 75 89 164 54
KIIAET & H 128 129 257 81
KINAET =5 137 133 270 84
KIIAET EE 204 228 432 153
KINAET BIEIE 34 66 100 100

KINAETE 1,142 1,264 2,406 874
21|87 f=H 55 52 107 30
21|87 H 38 40 78 16
21|87 T8 34 34 68 15
21|87 KEI 111 141 252 77
21187 Ry 57 67 124 40
21187 1BE 183 198 381 139
21187 INEI 154 165 319 112
21|87 D 153 157 310 105
21187 2is 48 46 94 38
2187 IR 68 88 156 48
21|87 AK 28 34 62 21
21| |7 g 25 23 48 11
2 I ET i B 46 36 82 19
21|87 £ H 50 61 111 23
2 I ET TtE 34 35 69 18
21|87 IR 133 140 273 63
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=1 HT RE 55 64 119 25
21| |7 BEFEH 94 116 210 53
21|87 e Siifiu] 356 231 587 283
£)I8T HEWEER 7 40 47 47

2 BTET 1,729 1,768 3,497 1,183

K % 2T Kiz 123 140 263 67
K % EET Bth 11 12 23 10
K % R Eia 123 124 247 65
K % EET HEFE 67 71 138 40
K % R B 53 44 97 23
K % EET AR 73 77 150 33
K % R EEBIE 43 43 86 20
K % EET =10 71 67 138 37
K % 2 ET poipES 61 70 131 39
K % 2T ES 120 127 247 61
K % R K= 84 67 151 39
K % 2T Biais 60 68 128 35
K % R Pus 105 92 197 52
K % 2T ] 383 425 808 257
K % 2 ETET 1,377 1,427 2,804 778

K Z BT =gl 53 52 105 25
BREL FZHE 150 141 291 73
FK Z BT KINE 132 123 255 62
FER ZHT INER 64 61 125 28
R S HT 8T 82 107 189 50
FER ZHT 8 L 170 181 351 93
K Z BT [REE 186 197 383 90
BREL HFE 239 243 482 137
R S HT =% 65 78 143 37
FER ZHT Bith 1 1 2 1
R S HT KHh 49 60 109 31
BREL K& 87 85 172 46
FIK Z BT mE 70 64 134 25
BREL a0 54 56 110 24
K Z BT ERi 76 86 162 36
B Z ETET 1478 1535 3,013 758

KJIET & 177 213 390 142
K JIET k] 72 76 148 59
AJIET =R 106 114 220 66
KJIIET HFO 126 136 262 53
AJIET R 96 120 216 62
KJIIET JIlEE 123 125 248 68
AJIET GE[OF 1 1 2 1
K JIET Eqng 176 186 362 102
AJIET a1 255 273 528 181
KJIIET e 100 123 223 63
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AJIET HAEK 74 66 140 45
KJIIET JIR 118 111 229 74

KINBTET 1424 1544 2968 916
N B 136 151 287 87
FA TR ET LR 68 63 131 38
N 5 257 300 557 181
FA TR ET T 88 94 182 62
KA ET 2= 48 48 96 32
LN EiR 78 88 166 48
N o9 102 96 198 59
LN =N 130 132 262 68
N ABK 44 37 81 27
LN B 109 131 240 79
N 5 112 130 242 73
P ET =] 96 107 203 63
N o) 62 64 126 43

N 1,330 1,441 2771 860
=<1 B\ 639 745 1,384 545
BT 7q/\ &5 268 286 554 205
=<1 NES 845 919 1,764 667
BT KE 504 522 1,026 364
=<1 2 105 111 216 81
BT AN &5 116 143 259 95
=<1 £K 185 235 420 157
ZEBm EHF 109 124 233 80
BT H 78 103 181 63
ZEBm o 56 69 125 39
BT MR 78 85 163 50
B aF 46 46 92 33

—BHETET 3029 3388 6417 2,379
BILACHET B 575 600 1,175 435
B ACHET fa#0 72 68 140 54
BT Rk 933 950 1,883 701
B ACHET HE 69 78 147 47
B LT X fH 70 69 139 55
B ACHET fin Er 195 217 412 127
BRILCET HEIA 165 202 367 130
B ACHET HAAZF 120 106 226 78
B LT KAR 225 229 454 165
B ACHET faiE 178 217 395 171
B LT ER 72 88 160 72
B LA ET 5 16 15 31 10
BILACHT EINA 123 114 237 81
B LA ET TnE 9 11 20 8
B ILCHET IR E? 114 132 246 72
B ILACET B 7 7 14 8
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MwERE | TEE4S B X B T3
RILKETET 2943 3103 6,046 2214

AT RAE 258 301 559 242
4 ET A 516 537 1,053 413
AT =INA 66 73 139 46
4 ET W 97 111 208 65
I ET 5 68 65 133 52
LA ET =¥} 145 177 322 140
AT AR—RX 264 291 555 192
I HT ARZRX 422 448 870 351
4 ET ABR=ZX 155 177 332 123
I HT S 193 215 408 181
4 ET NN 126 150 276 127
L ET YR — 137 143 280 08
I ET B 155 168 323 154
LA ET Ciclzy 135 140 275 86
AT AR AR 56 50 106 38
4 ET ¥4 58 52 52 104 28
AT E%s) 75 72 147 48
I ET & 2920 3170 6,090 2,384

8 28,231 30,937 59,168 21,001
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